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[1BFEHKE] 6,449 (m) |[1BE#%/KE] 98,928 (m) |[1BHEH%/KE] 5111 (m)

HoKimH OK HoKiEH O K HoKimH OK

) =IE T E1% bl =xIE Ty B3 ) =IE T Bl

PUFEVRUEZDILE <0.0010  <0.0010  <0.0010 9 <0.0010  <0.0010  <0.0010 12 <0.0010 1
ISVRUEDIEEY <0.0001  <0.0001  <0.0001 9 <0.0001  <0.0001 <0.0001 12 <0.0001 1
29TV RUZDIEEH <0.001 <0.001 <0.001 9 <0.001 <0.001 <0.001 12 <0.001 1
1,2—9HOAIaY <0.0001  <0.0001  <0.0001 4 <0.0001  <0.0001 <0.0001 4 <0.0004 1
LTy <0010 <0010 <0.010 4 <0010 <0.010 <0.010 4 <0.001 1
TRIVEEY 2—IFIAFII) <0.008  <0.008 <0.008 4 <0008  <0.008 <0.008 4 <0.002 1
HIERE <0.06 1
ZELER <0.06 1
ybonre b= 0002  <0.001 0.001 4 0.001 <0.001 <0.001 4 <0.001 1
#Kkoa5-Il 0.004 0.003 0.004 4 0.003  <0.001 0.002 4 <0.001 1
L E35 <0.10 <0.10 <0.10 3 <0.10 <0.10 <0.10 3
HREBIER 1.4 06 1.0 36 1.4 0.8 1.1 50 0.7 1
SR 3.1 18 2.5 4 3.5 26 3.0 4 12.0 1
1,1,1—tyhonI4ay <0010 <0010 <0.010 4 <0010 <0010 <0.010 4 <0.001 1
AFI—t—=FFII—FI (MTBE) <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 1
AMEGBIVH VBN LEEE) 2.7 1.2 1.8 36 28 14 20 50 0.9 1
R SR5&E (TON) 3 2 2 4 3 1 2 4 1 1
BRI GYTUTES) -15 -19 -1.8 4 -15 -20 -1.8 -11 1
HEREEMR 5 0 2 9 2 0 1 12 0 1
1,1—9HOAIFLY <00100  <0.0100  <0.0100 4 <0.0100 <0.0100  <0.0100 <0.0010 1
KR (°C) 204 8.2 17.8 36 293 79 18.7 50 220 155 19.3 12
FUEITREER
EMILFRIBREREBOD)
{LFRIE R ERE(COD)
SESMRUVIRI B (50mmtz) LI FREF)
FEYE(SS)
BRI R
£ER
DV
VVEEATY
WA PEVES -
£ (n/ml)
FIHUE 330 215 26.8 36 335 210 27.7 50 95.0 89.0 91.0 12
BEBRE
REsAAY 3.3 2.8 3.1 12

BETAEE
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1,1,1—kHoonIay <0.001 1 0.001 0.001 0.001 12 0.001 0.001 0.001
AFI—t=TFII-TIL (MTBE) <0.001 1
AMEGBIVH VBN LEEE) 19 1
R SR5&E (TON) 2 1
BRI GYTUTES) -1.1 1
HEREEMR 0 1
1,1—9HOAIFLY <0.0010 1 00010  0.0010 0.0010 12 0.0010 0.0010 0.0010
JKigE(°c) 26.5 13.0 19.3 12
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BRI R
2EX
22Uy
UVEEAAY
WA PEVES -
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BEBRE
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BT R
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AMEGBIVH VBN LEEE) 30 24 2.7 2
R SR5&E (TON) 1 1 1 2
BRI GYTUTES) -15 -15 -15 2
HEREEMR 0 0 0 2
1,1—9HOAIFLY 00010  0.0010 0.0010 12 <00010  <0.0010  <0.0010 2
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LTy <0.020 1
TRVEEY 2—IFIAFIIL) <0.008 1
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AMEGBIVH VBN LEEE) 19 1
R SR5&E (TON) 1 1 2 1
BRI GYTUTES) -0.7 1 -10 1
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[1AFHHRKE] 1,010 (m) |[1BFH%KE] (M) [[1BF9:%KE] (m)
HoKimH OK HoKiEH O K HoKimH OK
) =IE T E1% bl =xIE Ty B3 ) =IE T Ik

TUFEVRUEDILEY 0.0010 0.0010 0.0010 2

DIV RUEDILEY 0.0001 0.0001 0.0001 2

29TV RUZDIEEH 0.001 0.001 0.001 2

1,2—9HOAIaY 0.0004  0.0004 0.0004 2

LTy 0.001 0.001 0.001 2

TRVEEY 2—IFIAFIIL) 0.002 0.002 0.002 2

HIERE 0.06 0.06 0.06 2

ZELER 0.06 0.06 0.06 2

ybonre b= 0.002 0.001 0.002 2

faKH05-Ib 0.003 0.001 0.002 2

HREBIER 038 0.5 0.8 14

SR 7.0 5.0 6.0 2

1,1,1—HOnIsY 0.001 0.001 0.001 2

HAFI—t—FFII—TIL(MTBE) 0.001 0.001 0.001 2

AMEGBIVH VBN LEEE) 19 1.1 15 2

R SR5&E (TON) 1 1 1 2
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